CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:	Capital Improvement
AGENDA DATE:	January 19, 2021
CONTACT PERSON/PHONE:	Sam Rodriguez, Chief Operations & Transportation Officer (915) 212-1845 Bruce D. Collins, Purchasing Director (915) 212-1181
DISTRICT(S) AFFECTED:	4
STRATEGIC GOAL	NO. 7 – Enhance and Sustain El Paso's Infrastructure Network
The linkage to the Strategic Plan is subthe quality of life.	section 7.2 - Improve competitiveness through infrastructure improvements impacting
SUBJECT:	
INC. for an estimated total award	solicitation 2021-0252 Metro 31 Flood Zone Mitigation to ZTEX CONSTRUCTION, of \$1,176,885.77. This award will support the improvements to the commercial ated at the intersection of Diana and Dyer Street.
BACKGROUND / DISCUSSION:	
and Dyer Street. Northgate is a community Metro Transfer Station, the Low-Inco	the commercial development known as Northgate, located at the intersection of Diana mercial property that is partially developed and includes the recently constructed Sun me Housing Development, Metro 31 Avenue (which is an 839 linear foot road off of a 568 linear foot road off of Wren Ave). The surrounding private properties consist of
SELECTION SUMMARY:	
October 27, 2020. The email (Purmai	er 27, 2020, and November 3, 2020. The solicitation was posted on City website on l) notification was sent out on October 29, 2020. There were a total of ninety-nine (99) received; fourteen (14) being local suppliers.
PROTEST	
No protest received for this requir	ement.
Protest received.	
COUNCIL REPRESENTATIVE B	RIEFING:
Was a briefing provided? Yes or If yes, select the applicable district	
District 1 District 2 District 3	

District 4

PPS FORM 001, Rev. 3, 8/9/2016 (Discard Previous Versions)

☐ District 5 ☐ District 6 ☐ District 7 ☐ District 8 ☐ All Districts
PRIOR COUNCIL ACTION:
N/A
AMOUNT AND SOURCE OF FUNDING:
Amount: \$1,176,885.77
Source: 580010 - 480 - 4930 - 48000 - PEDFY18012 522360 - 480 - 2323 - 48040 - PEDFY18012 580170 - 480 - 4741 - 48040 - PEDFY18012 580160 - 480 - 4741 - 48040 - PEDFY18012 580270 - 480 - 4741 - 48040 - PEDFY18012
BOARD / COMMISSION ACTION:
N/A

Ognan Da Muna/lan

Sam Rodriguez, Chief Operations & Transportation Officer

DEPARTMENT HEAD:

COUNCIL PROJECT FORM (Low Bid)

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **JANUARY 19, 2021**.

STRATEGIC GOAL 7 - Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection 7.2 - Improve competitiveness through infrastructure improvements impacting the quality of life.

Award Summary:

Discussion and action on the award of solicitation 2021-0252 Metro 31 Flood Zone Mitigation to ZTEX CONSTRUCTION, INC. for an estimated total award of \$1,176,885.77. This award will support the improvements to the commercial development known as Northgate, located at the intersection of Diana and Dyer Street.

Department: Capital Improvement

Award to: ZTEX CONSTRUCTION, INC.

El Paso, TX

Item(s):

Initial Term: 300 Consecutive Calendar Days

Base Bid I: \$1,176,885.77 Total Estimated Award: \$1,176,885.77

Account No.: 580010 - 480 - 4930 - 48000 - PEDFY18012

522360 - 480 - 2323 - 48040 - PEDFY18012 580170 - 480 - 4741 - 48040 - PEDFY18012 580160 - 480 - 4741 - 48040 - PEDFY18012 580270 - 480 - 4741 - 48040 - PEDFY18012

Funding Source: 2017 Certificates of Obligation and Economic Development Incentives

District(s):

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to ZTEX CONSTRUCTION, INC., lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

	2021-0252 Metro 31 Flood Zone Mitigation Bid Tab Summary											
	Contractor's Name	Sum Total Base Bid and Mobilization										
1	ZTEX Construction , Inc	\$1,176,885.77										
2	Jordan Foster Construction , LLC	\$1,223,081.70										
3	J.A.R Concrete Inc.	\$1,497,289.00										
4	International Eagle Enterprises, Inc	\$1,499,545.00										
5	Lesna Construction, Inc	\$1,532,552.50										
6	Martinez Bros Contractors	\$1,572,927.51										
7	Spartan Construction of Texas, Inc	\$1,838,351.63										
8	Del Mar Contracting, Inc	\$1,847,866.23										
9	Allen Concrete, LLC	\$1,964,901.80										
10	MFH Environmental Corp.	\$1,980,921.66										
11	J.D Abrams L.P	\$1,987,007.28										
12	Tao Industries Inc dba Hawk Construction	\$2,050,004.00										
13	Horizone Construction 1 LTD	\$2,264,632.85										
14	Synergy Project Contractors, Inc	\$2,368,863.55										
15	Perikin Enterprises, LLC	\$3,476,706.24										





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

ם טום	ATE: Dece	ilibei 3,	2020	_		7		DEFARIMENT.	CAPITAL IMPROVEMENT
				Allen Concrete LLc El Paso, TX BIDDER 1 OF 15		Del Mar Contracting , Inc El Paso, TX BIDDER 2 OF 15		Horizone Construction 1 LTD El Paso, TX BIDDER 3 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
1.	1	LS	Storm Water Pollution Prevention Measures, Complete in Place	\$45,000.00	\$45,000.00	\$16,000.00	\$16,000.00	\$18,275.00	\$18,275.00
2.	1	LS	Traffic Control, Complete in Place	\$18,000.00	\$18,000.00	\$9,000.00	\$9,000.00	\$4,450.00	\$4,450.00
3.	55,718	SY	Removal and Disposal of Existing Hot Mix Asphaltic Concrete (HMAC) Pavement & 6" Over-Ex of Base Course Layer	\$4.20	\$234,015.60	\$1.25	\$69,647.50	\$2.00	\$111,436.00
4.	13,303	SY	Clear & Grub (Non Paved Areas) (6" Depth)	\$2.85	\$37,913.55	\$1.00	\$13,303.00	\$0.72	\$9,578.16
5.	1	LS	Removal and Disposal of Existing Trees, Shrubs, and Native Vegetation	\$5,200.00	\$5,200.00	\$10,000.00	\$10,000.00	\$9,200.00	\$9,200.00
6.	2,084	LF	Removal and Disposal of Existing Chain-link Fence & Gates	\$4.50	\$9,378.00	\$4.00	\$8,336.00	\$5.10	\$10,628.40
7.	3,184	LF	Removal and Disposal of Existing Curb & Gutter	\$2.50	\$7,960.00	\$4.00	\$12,736.00	\$5.20	\$16,556.80
8.	5,424	SF	Removal and Disposal of Abandoned Sun Metro Bus Depot Facility	\$7.35	\$39,866.40	\$0.60	\$3,254.40	\$5.50	\$29,832.00





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

SID ITILE: Metro 31 Flood Zone Mittigation

BID D	DATE: December 9 , 2020 DEPARTMENT: CAPITAL IMPROVEMENT												
				Allen Concrete, LLC El Paso, TX		Del Mar Contracting, Inc El Paso, TX		Horizone Construction 1 LTD EI Paso, TX BIDDER 3 OF 15					
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS				
					BASE BID								
9.	35	SY	Removal and Disposal of Existing Concrete Pads	\$25.00	\$875.00	\$15.00	\$525.00	\$77.40	\$2,709.00				
10.	1	LS	Removal and Disposal of Existing Inlet	\$3,200.00	\$3,200.00	\$1,000.00	\$1,000.00	\$1,350.00	\$1,350.00				
11.	25	EA	Removal and Disposal of Existing Bollards	\$120.00	\$3,000.00	\$50.00	\$1,250.00	\$152.00	\$3,800.00				
12.	1	LS	Removal and Disposal of Existing Underground Septic Tank System	\$2,400.00	\$2,400.00	\$1,300.00	\$1,300.00	\$2,400.00	\$2,400.00				
13.	1	LS	Removal and Disposal of Existing Grease Trap System	\$2,400.00	\$2,400.00	\$1,200.00	\$1,200.00	\$2,700.00	\$2,700.00				
14.	3	EA	Removal and Disposal of Existing Parking Light Pole and Foundation	\$2,500.00	\$7,500.00	\$1,500.00	\$4,500.00	\$1,250.00	\$3,750.00				
15.	1	EA	Removal and Disposal of Existing Light Pole Concrete Base	\$2,500.00	\$2,500.00	\$450.00	\$450.00	\$870.00	\$870.00				





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

BID D	ATE: Dece	mber 9,	2020					DEPARTMENT:	CAPITAL IMPROVEMENT
					n Concrete, LLC		Contracting, Inc	Horizone Construction 1 LTD	
					El Paso, TX DDER 1 OF 15		El Paso, TX DER 2 OF 15	El Paso, TX BIDDER 3 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
	_		Removal and Disposal of Existing EPE	40.500.00	447.500.00	****	44.000.00	40.500.00	\$12,500.00
16.	5	EA	Utility Pole & Overhead Electrical	\$3,500.00	\$17,500.00	\$200.00	\$1,000.00	\$2,500.00	Contractor's Price: \$2,500.00
17.	1	EA	Removal and Disposal of Existing Abandoned AT&T Service Manhole	\$2,800.00	\$2,800.00	\$1,000.00	\$1,000.00	\$1,900.00	\$1,900.00
18.	585	LF	Capping, Removal, and Disposal of Existing 8" Sanitary Sewer Main	\$6.00	\$3,510.00	\$12.00	\$7,020.00	\$8.60	\$5,031.00
19.	414	LF	Capping, Removal, and Disposal of Existing 8" Domestic Water Main	\$6.00	\$2,484.00	\$12.00	\$4,968.00	\$9.60	\$3,974.40
20.	36	LF	Removal and Disposal of Existing 24" HDPE Storm Sewer Pipe	\$125.00	\$4,500.00	\$12.00	\$432.00	\$70.75	\$2,547.00
21.	14,561	CY	Earthworks (Cut to Fill)	\$2.50	\$36,402.50	\$6.40	\$93,190.40	\$3.00	\$43,683.00
22.	91,538	CY	Earthworks (Imported Select Fill)	\$12.50	\$1,144,225.00	\$14.85	\$1,359,339.30	\$19.18	\$1,755,698.84





BID NO: 2021-0252

ם מופ	AIE: Dece	mber 9,	2020					DEPARTMENT	CAPITAL IMPROVEMENT	
					n Concrete, LLC El Paso, TX DDER 1 OF 15		r Contracting, Inc El Paso, TX DDER 2 OF 15	Horizone Construction 1 LTD EI Paso, TX BIDDER 3 OF 15		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	
				•	BASE BID					
23.	735	LF	Furnish, Install and Implement Trench Safety System	\$6.50	\$4,777.50	\$4.00	\$2,940.00	\$3.45	\$2,535.75	
24.	365	LF	Furnish and Install 12" HDPE Pipe	\$52.00	\$18,980.00	\$33.00	\$12,045.00	\$31.15	\$11,369.75	
25.	370	LF	Furnish and Install 18" HDPE Pipe	\$66.50	\$24,605.00	\$50.00	\$18,500.00	\$46.35	\$17,149.50	
26.	1	EA	Furnish and Install Reinforced Concrete Outfall Structure, Complete in Place	\$4,250.00	\$4,250.00	\$8,500.00	\$8,500.00	\$4,400.00	\$4,400.00	
27.	23,945	SF	Furnish and Install 6" to 8" Loose Rock Rip Rap with Geofabric, Complete in Place	\$5.50	\$131,697.50	\$2.00	\$47,890.00	\$2.25	\$53,876.25	
28.	6	CY	Furnish and Install 12" Loose Rock Rip Rap, Complete in Place	\$95.00	\$570.00	\$200.00	\$1,200.00	\$198.50	\$1,191.00	
29.	350	SF	Furnish and Install 4" Reinforced Concrete Weir, Complete in Place	\$12.50	\$4,375.00	\$7.80	\$2,730.00	\$13.10	\$4,585.00	
30.	7	EA	Furnish and Install 48" Pre-Cast Concrete Manholes	\$5,250.00	\$36,750.00	\$4,000.00	\$28,000.00	\$4,650.00	\$32,550.00	





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

BID D	ATE: Dece	mber 9	, 2020					DEPARTMENT:	CAPITAL IMPROVEMENT
				Aller	Concrete, LLC	Del Ma	r Contracting, Inc	Horizone	Construction 1 LTD
					El Paso, TX DDER 1 OF 15		El Paso, TX DDER 2 OF 15	El Paso, TX BIDDER 3 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
31.	504	LF	Furnish and Install 6' Chain-link Fence and Accessories	\$25.00	\$12,600.00	\$29.00	\$14,616.00	\$25.25	\$12,726.00
32.	2	EA	Furnish and Install 9' Chain-link Gates and Accessories, Complete in Place	\$600.00	\$1,200.00	\$1,600.00	\$3,200.00	\$1,275.00	\$2,550.00
33.	2	EA	Furnish and Install No Trespassing Warning Sign, Complete in Place	\$450.00	\$900.00	\$400.00	\$800.00	\$415.00	\$830.00
34					Left Blank Intentionally				
	s	вим тот	TAL BASE BID (ITEMS 1 THRU 34)	\$1,871,335.05		\$1,759,872.60		\$2,196,632.85	
			MOBILIZATION (NOT TO EXCEED 5%)	\$93,566.75		\$87,993.63 Contractor's Price: \$90,000.00		\$68,000.00	
	SII	Μ ΤΟΤΔ	L (BASE BID I AND MOBILIZATION)	•	1,964,901.80	\$^	1,847,866.23	\$2,264,632.85	
		1017		Ψ	1,00-1,001.00	Contractor'	s Price: \$1,849,872.60	Ψ.	_,,
		AME	NDMENTS ACKNOWLEDGED		Yes	Yes		Yes	
			BID BOND SUBMITTED		Yes	Yes		Yes	





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

BID D	BID DATE: December 9, 2020 DEPARTMENT: CAPITAL IMPROVEMENT													
				Internationa	l Eagle Enterprises, Inc	J.A.R Concrete Inc.		J.D Abrams L.P						
				El Paso, TX		El Paso, TX		El Paso, TX						
	BIDDER 4 OF 15					BID	DER 5 OF 15	BIC	DER 6 OF 15					
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	The proof of the p				TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS					
					BASE BID									
1.	1	LS	Storm Water Pollution Prevention Measures, Complete in Place	\$20,000.00	\$20,000.00	\$41,241.00	\$41,241.00	\$100,000.00	\$100,000.00					
2.	1	LS	Traffic Control, Complete in Place	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$7,300.00	\$7,300.00					
3.	55,718	SY	Removal and Disposal of Existing Hot Mix Asphaltic Concrete (HMAC) Pavement & 6" Over-Ex of Base Course Layer	\$2.00	\$111,436.00	\$3.00	\$167,154.00	\$17.90	\$997,352.20					
4.	13,303	SY	Clear & Grub (Non Paved Areas) (6" Depth)	\$1.50	\$19,954.50	\$2.00	\$26,606.00	\$0.16	\$2,128.48					
5.	1	LS	Removal and Disposal of Existing Trees, Shrubs, and Native Vegetation	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$129,000.00	\$129,000.00					
6.	2,084	LF	Removal and Disposal of Existing Chain-link Fence & Gates	\$3.00	\$6,252.00	\$3.00	\$6,252.00	\$6.00	\$12,504.00					
7.	3,184	LF	Removal and Disposal of Existing Curb & Gutter	\$10.00	\$31,840.00	\$5.50	\$17,512.00	\$2.00	\$6,368.00					
8.	5,424	SF	Removal and Disposal of Abandoned Sun Metro Bus Depot Facility	\$6.00	\$32,544.00	\$0.25	\$1,356.00	\$0.12	\$650.88					





BID TITLE: Metro 31 Flood Zone Mitigation
BID NO: 2021-0252

BID D	DEPARTMENT: CAPITAL IMPROVEMENT												
				Internationa	l Eagle Enterprises, Inc	J.A.F	Concrete Inc.	J.[Abrams L.P				
				El Paso, TX		El Paso, TX		El Paso, TX					
				BII	DDER 4 OF 15	BID	DER 5 OF 15	BID	DER 6 OF 15				
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS				
					BASE BID								
9.	35	SY	Removal and Disposal of Existing Concrete Pads	\$50.00	\$1,750.00	\$65.00	\$2,275.00	\$150.00	\$5,250.00				
10.	1	LS	Removal and Disposal of Existing Inlet	\$800.00	\$800.00	\$1,200.00	\$1,200.00	\$25,000.00	\$25,000.00				
11.	25	EA	Removal and Disposal of Existing Bollards	\$100.00	\$2,500.00	\$125.00	\$3,125.00	\$200.00	\$5,000.00				
12.	1	LS	Removal and Disposal of Existing Underground Septic Tank System	\$20,000.00	\$20,000.00	\$3,500.00	\$3,500.00	\$35,000.00	\$35,000.00				
13.	1	LS	Removal and Disposal of Existing Grease Trap System	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00				
14.	3	EA	Removal and Disposal of Existing Parking Light Pole and Foundation	\$350.00	\$1,050.00	\$1,000.00	\$3,000.00	\$300.00	\$900.00				
15.	1	EA	Removal and Disposal of Existing Light Pole Concrete Base	\$800.00	\$800.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00				





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

טוט ט	DEPARTMENT: CAPITAL IMPROVEMENT											
				International Eagle Enterprises, Inc El Paso, TX BIDDER 4 OF 15		J.A.R Concrete Inc. El Paso, TX BIDDER 5 OF 15		J.D Abrams L.P El Paso, TX BIDDER 6 OF 15				
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS			
					BASE BID							
16.	5	EA	Removal and Disposal of Existing EPE Utility Pole & Overhead Electrical	\$1,000.00	\$5,000.00	\$475.00	\$2,375.00	\$5,500.00	\$27,500.00			
17.	1	EA	Removal and Disposal of Existing Abandoned AT&T Service Manhole	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00			
18.	585	LF	Capping, Removal, and Disposal of Existing 8" Sanitary Sewer Main	\$20.00	\$11,700.00	\$15.00	\$8,775.00	\$4.50	\$2,632.50			
19.	414	LF	Capping, Removal, and Disposal of Existing 8" Domestic Water Main	\$25.00	\$10,350.00	\$25.00	\$10,350.00	\$7.00	\$2,898.00			
20.	36	LF	Removal and Disposal of Existing 24" HDPE Storm Sewer Pipe	\$50.00	\$1,800.00	\$85.00	\$3,060.00	\$10.00	\$360.00			
21.	14,561	CY	Earthworks (Cut to Fill)	\$3.00	\$43,683.00	\$3.00	\$43,683.00	\$4.97	\$72,368.17			
22.	91,538	CY	Earthworks (Imported Select Fill)	\$10.00	\$915,380.00	\$9.50	\$869,611.00	\$1.07	\$97,945.66			





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

BID D	ATE: Dece	mber 9,	2020					DEPARIMENT	CAPITAL IMPROVEMENT	
					International Eagle Enterprises, Inc El Paso, TX BIDDER 4 OF 15		J.A.R Concrete Inc. El Paso, TX BIDDER 5 OF 15		J.D Abrams L.P El Paso, TX BIDDER 6 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	
					BASE BID					
23.	735	LF	Furnish, Install and Implement Trench Safety System	\$4.00	\$2,940.00	\$2.00	\$1,470.00	\$10.00	\$7,350.00	
24.	365	LF	Furnish and Install 12" HDPE Pipe	\$30.00	\$10,950.00	\$40.00	\$14,600.00	\$90.00	\$32,850.00	
25.	370	LF	Furnish and Install 18" HDPE Pipe	\$40.00	\$14,800.00	\$50.00	\$18,500.00	\$130.00	\$48,100.00	
26.	1	EA	Furnish and Install Reinforced Concrete Outfall Structure, Complete in Place	\$7,000.00	\$7,000.00	\$18,500.00	\$18,500.00	\$25,000.00	\$25,000.00	
27.	23,945	SF	Furnish and Install 6" to 8" Loose Rock Rip Rap with Geofabric, Complete in Place	\$3.50	\$83,807.50	\$3.00	\$71,835.00	\$6.00	\$143,670.00	
28.	6	CY	Furnish and Install 12" Loose Rock Rip Rap, Complete in Place	\$250.00	\$1,500.00	\$495.00	\$2,970.00	\$295.00	\$1,770.00	
29.	350	SF	Furnish and Install 4" Reinforced Concrete Weir, Complete in Place	\$6.00	\$2,100.00	\$35.00	\$12,250.00	\$25.00	\$8,750.00	
30.	7	EA	Furnish and Install 48" Pre-Cast Concrete Manholes	\$4,000.00	\$28,000.00	\$7,000.00	\$49,000.00	\$5,000.00	\$35,000.00	





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

BID D	ATE: Dece	mber 9 ,	, 2020					DEPARTMENT:	CAPITAL IMPROVEMENT
				Internationa	l Eagle Enterprises, Inc	J.A.F	R Concrete Inc.	J.[Abrams L.P
					El Paso, TX	E	El Paso, TX	1	El Paso, TX
				ВІІ	DDER 4 OF 15	ВІС	DER 5 OF 15	BID	DER 6 OF 15
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
31.	504	LF	Furnish and Install 6' Chain-link Fence and Accessories	\$22.00	\$11,088.00	\$30.00	\$15,120.00	\$60.00	\$30,240.00
32.	2	EA	Furnish and Install 9' Chain-link Gates and Accessories, Complete in Place	\$4,800.00	\$9,600.00	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00
33.	2	EA	Furnish and Install No Trespassing Warning Sign, Complete in Place	\$860.00	\$1,720.00	\$750.00	\$1,500.00	\$2,500.00	\$5,000.00
34					Left Blank Intentionally				
	s	им тот	AL BASE BID (ITEMS 1 THRU 34)	\$	1,434,545.00	\$^	1,451,520.00	\$	1,892,387.89
			MOBILIZATION		¢65 000 00			\$94,619.39	
			(NOT TO EXCEED 5%)		\$65,000.00	,	\$45,769.00	Contracto	r's Price: \$99,000.00
			_				\$	1,987,007.28	
	SUM TOTAL (BASE BID I AND MOBILIZATION)			\$1,499,545.00		\$1,497,289.00		Contractor's Price: \$1,991,387.89	
	AMENDMENTS ACKNOWLEDGED		Yes		Yes		Yes		
			BID BOND SUBMITTED		Yes		Yes	Yes	





BID TITLE: Metro 31 Flood Zone Mitigation BID DATE: December 9, 2020 BID NO: 2021-0252

BID D	ATE: Dece	mber 9,	2020			_		DEPARTMENT:	CAPITAL IMPROVEMENT
					ter Construction , LLC El Paso, TX		Construction, Inc		z Bros Contractors El Paso, TX
				BIDDER 7 OF 15		BIDDER 8 OF 15		BIDDER 9 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
1.	1	LS	Storm Water Pollution Prevention Measures, Complete in Place	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$11,250.00	\$11,250.00
2.	1	LS	Traffic Control, Complete in Place	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$60,000.00	\$60,000.00
3.	55,718	SY	Removal and Disposal of Existing Hot Mix Asphaltic Concrete (HMAC) Pavement & 6" Over-Ex of Base Course Layer	\$1.00	\$55,718.00	\$3.00	\$167,154.00	\$1.25	\$69,647.50
4.	13,303	SY	Clear & Grub (Non Paved Areas) (6"	\$0.50	\$6.651.50	\$2.00	\$26,606.00	\$0.94	\$12,504.82
	,,,,,,		Depth)	, , , , ,	V - /		, ,,,,,,,		Contractor's Price \$12,471.56
5.	1	LS	Removal and Disposal of Existing Trees, Shrubs, and Native Vegetation	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$6,250.00	\$6,250.00
6.	2,084	LF	Removal and Disposal of Existing Chain-link Fence & Gates	\$2.00	\$4,168.00	\$2.00	\$4,168.00	\$3.75	\$7,815.00
			Removal and Disposal of Existing Curb						\$11,398.72
7.	3,184	LF	& Gutter	\$3.00	\$9,552.00	\$2.00	\$6,368.00	\$3.58	Contractor's price: \$11,393.00
8.	5,424	SF	Removal and Disposal of Abandoned Sun Metro Bus Depot Facility	\$1.00	\$5,424.00	\$0.25	\$1,356.00	\$2.50	\$13,560.00





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

ט טום	AIE: Dece	ilibel 9 ,	, 2020	_				DEFARTMENT.	CAPITAL IMPROVEMENT
				Jordan Fos	Jordan Foster Construction, LLC Lesna Construction, Inc		Martinez Bros Contractors		
				El Paso, TX			El Paso, TX		El Paso, TX
				BII	DDER 7 OF 15	BIC	DER 8 OF 15	BID	DER 9 OF 15
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
9.	35	SY	Removal and Disposal of Existing Concrete Pads	\$25.00	\$875.00	\$30.00	\$1,050.00	\$125.00	\$4,375.00
10.	1	LS	Removal and Disposal of Existing Inlet	\$875.00	\$875.00	\$800.00	\$800.00	\$500.00	\$500.00
11.	25	EA	Removal and Disposal of Existing Bollards	\$87.00	\$2,175.00	\$25.00	\$625.00	\$150.00	\$3,750.00
12.	1	LS	Removal and Disposal of Existing Underground Septic Tank System	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00	\$1,250.00	\$1,250.00
13.	1	LS	Removal and Disposal of Existing Grease Trap System	\$2,400.00	\$2,400.00	\$1,500.00	\$1,500.00	\$1,250.00	\$1,250.00
14.	3	EA	Removal and Disposal of Existing Parking Light Pole and Foundation	\$230.00	\$690.00	\$1,745.00	\$5,235.00	\$1,750.00	\$5,250.00
15.	1	EA	Removal and Disposal of Existing Light Pole Concrete Base	\$700.00	\$700.00	\$920.00	\$920.00	\$500.00	\$500.00





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252 BID DATE: December 9, 2020 **DEPARTMENT: CAPITAL IMPROVEMENT** Jordan Foster Construction, LLC Lesna Construction, Inc **Martinez Bros Contractors** El Paso, TX El Paso, TX El Paso, TX BIDDER 7 OF 15 **BIDDER 8 OF 15** BIDDER 9 OF 15 **TOTAL AMOUNT TOTAL AMOUNT** TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT **UNIT PRICE** (QUANTITY X UNIT PRICE) **UNIT PRICE UNIT PRICE** ITEM APX QTY UNIT **BRIEF DESCRIPTION OF ITEM** PRICE) PRICE) NO. (IN FIGURES) (IN FIGURES) (IN FIGURES) DO NOT ROUND DO NOT ROUND DO NOT ROUND **ONLY TWO DECIMALS ONLY TWO DECIMALS ONLY TWO DECIMALS BASE BID** Removal and Disposal of Existing EPE 16. 5 EΑ \$680.00 \$3,400.00 \$2,000.00 \$10,000.00 \$1,875.00 \$9,375.00 Utility Pole & Overhead Electrical Removal and Disposal of Existing 17. EΑ \$1,500.00 \$1,500.00 \$1,200.00 \$1,200.00 \$1,175.00 \$1,175.00 Abandoned AT&T Service Manhole \$1,684.80 Capping, Removal, and Disposal of LF 18. 585 \$7.00 \$4,095.00 \$12.00 \$7,020.00 \$2.88 Existing 8" Sanitary Sewer Main Contractor's Price: \$1,681.87 Capping, Removal, and Disposal of LF 414 \$3.00 \$1,242.00 \$12.00 \$4,968.00 \$75.00 \$31,050.00 19. Existing 8" Domestic Water Main Removal and Disposal of Existing 24" LF 20. 36 \$11.00 \$396.00 \$15.00 \$540.00 \$112.50 \$4,050.00 HDPE Storm Sewer Pipe \$86,346.73 21. 14,561 CY Earthworks (Cut to Fill) \$4.00 \$58,244.00 \$5.00 \$72,805.00 \$5.93 Contractor's Price: \$86,455.93 \$707,588.74 22. 91,538 CY Earthworks (Imported Select Fill) \$8.90 \$10.50 \$961,149.00 \$814,688.20 \$7.73 Contractor's Price:

2021-0252 Metro 31 Flood Zone Mitigation

\$708,275.27





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252

				Jordan Fos	ster Construction, LLC	Lesna (Construction, Inc	Martine	z Bros Contractors
				El Paso, TX		El Paso, TX		El Paso, TX	
				BII	DDER 7 OF 15	BIC	DER 8 OF 15	BID	DER 9 OF 15
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
23.	735	LF	Furnish, Install and Implement Trench Safety System	\$1.00	\$735.00	\$8.00	\$5,880.00	\$3.75	\$2,756.25
24.	365	LF	Furnish and Install 12" HDPE Pipe	\$49.00	\$17,885.00	\$30.00	\$10,950.00	\$307.50	\$112,237.50
25.	370	LF	Furnish and Install 18" HDPE Pipe	\$70.00	\$25,900.00	\$40.00	\$14,800.00	\$375.00	\$138,750.00
26.	1	EA	Furnish and Install Reinforced Concrete Outfall Structure, Complete in Place	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00	\$12,250.00	\$12,250.00
			Furnish and Install 6" to 8" Loose Rock						\$67,285.45
27.	23,945	SF	Rip Rap with Geofabric, Complete in Place	\$2.00	\$47,890.00	\$2.50	\$59,862.50	\$2.81	Contractor's Price: \$67,345.31
28.	6	CY	Furnish and Install 12" Loose Rock Rip Rap, Complete in Place	\$48.00	\$288.00	\$400.00	\$2,400.00	\$112.50	\$675.00
			Furnish and Install 4" Reinforced						\$1,092.00
29.	350	SF	Concrete Weir, Complete in Place	\$5.00	\$1,750.00	\$6.00	\$2,100.00	\$3.12	Contractor's Price: \$1,093.75
30.	7	EA	Furnish and Install 48" Pre-Cast Concrete Manholes	\$3,700.00	\$25,900.00	\$4,000.00	\$28,000.00	\$13,750.00	\$96,250.00





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252

BID D	ATE: Dece	mber 9 ,	2020					DEPARTMENT:	CAPITAL IMPROVEMENT
				Jordan Fos	ster Construction, LLC	Lesna (Construction, Inc	Martine	z Bros Contractors
					El Paso, TX	ı	El Paso, TX	,	El Paso, TX
				BI	DDER 7 OF 15	BIE	DER 8 OF 15	BID	DER 9 OF 15
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
31.	504	LF	Furnish and Install 6' Chain-link Fence and Accessories	\$35.00	\$17,640.00	\$24.00	\$12,096.00	\$15.00	\$7,560.00
32.	2	EA	Furnish and Install 9' Chain-link Gates and Accessories, Complete in Place	\$1,400.00	\$2,800.00	\$1,000.00	\$2,000.00	\$11,250.00	\$22,500.00
33.	2	EA	Furnish and Install No Trespassing Warning Sign, Complete in Place	\$250.00	\$500.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00
34					Left Blank Intentionally				
								\$1,514,927.51	
	s	UM TOT	AL BASE BID (ITEMS 1 THRU 34)	\$	1,165,081.70	\$ ⁻	1,467,552.50	Contractor's Price: \$1,515692.96	
	MOBILIZATION (NOT TO EXCEED 5%)				\$58,000.00		\$65,000.00	\$58,000.00	
				_	4	_		\$	1,572,927.51
	SUM TOTAL (BASE BID I AND MOBILIZATION)		\$1,223,081.70		\$1,532,552.50		Contractor's Price: \$1,573,692.96		
	AMENDMENTS ACKNOWLEDGED		Yes		Yes		Yes		
		BID BOND SUBMITTED		Yes		Yes		Yes	





\$1,925.40

BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252 BID DATE: December 9, 2020 **DEPARTMENT: CAPITAL IMPROVEMENT** MFH Environmental Corp. Perikin Enterprises, LLC Spartan Construction of Texas, Inc. El Paso, TX Albuquerque, NM El Paso, TX **BIDDER 10 OF 15 BIDDER 11 OF 15 BIDDER 12 OF 15** TOTAL AMOUNT TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT **UNIT PRICE** (QUANTITY X UNIT PRICE) **UNIT PRICE UNIT PRICE** ITEM APX QTY UNIT **BRIEF DESCRIPTION OF ITEM** PRICE) PRICE) NO. (IN FIGURES) (IN FIGURES) (IN FIGURES) DO NOT ROUND DO NOT ROUND DO NOT ROUND **ONLY TWO DECIMALS ONLY TWO DECIMALS ONLY TWO DECIMALS BASE BID** \$22,007.58 Storm Water Pollution Prevention LS \$19.800.00 \$19.800.00 \$17.364.70 \$17.364.70 \$22.007.58 1. Measures, Complete in Place Contractor's Price: \$22.008 \$5.947.99 2. LS Traffic Control, Complete in Place \$11,000.00 \$11,000.00 \$38,324.40 \$38,324.40 \$5,947.99 Contractor's Price: \$5,948 Removal and Disposal of Existing Hot \$485,860.96 \$269,675.12 Mix Asphaltic Concrete (HMAC) 55,718 SY \$3.30 \$183,869.40 \$8.72 \$4.84 3. Pavement & 6" Over-Ex of Base Contractor's Price: Contractor's Price: Course Layer \$485,675.08 \$269,656 \$49.088.07 \$7.981.80 Clear & Grub (Non Paved Areas) (6" 13.303 SY \$5.50 \$73,166.50 \$3.69 \$0.60 Contractor's Price: Depth) Contractor"s Price: \$8,012 \$49.146.51 \$5,947.99 Removal and Disposal of Existing 5. LS \$3,850.00 \$3,850.00 \$9,058.49 \$9,058.49 \$5,947.99 Contractor's Price: Trees, Shrubs, and Native Vegetation \$9,058.49 \$6.252.00 \$12.378.96 Removal and Disposal of Existing LF \$5.94 6. 2,084 \$1.65 \$3,438.60 \$3.00 Contractor's Price: Chain-link Fence & Gates Contractor's Price:\$12.396 \$6.246.97 \$5.985.92 \$19,072.16 Removal and Disposal of Existing Curb 3,184 LF \$3.30 \$10,507.20 \$1.88 \$5.99 7. Contractor's Price: & Gutter Contractor's Price: \$19,074 \$5,986.13 \$1,898.40 \$29,018.40 Removal and Disposal of Abandoned 8. 5.424 SF \$0.00 \$0.00 \$0.35 \$5.35 Contractor's Price: Sun Metro Bus Depot Facility Contractor's Price: \$29,036





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252 **DEPARTMENT: CAPITAL IMPROVEMENT** BID DATE: December 9 . 2020 Perikin Enterprises, LLC MFH Environmental Corp. Spartan Construction of Texas, Inc. El Paso, TX Albuquerque, NM El Paso, TX **BIDDER 10 OF 15 BIDDER 11 OF 15 BIDDER 12 OF 15** TOTAL AMOUNT TOTAL AMOUNT **TOTAL AMOUNT** (QUANTITY X UNIT (QUANTITY X UNIT UNIT PRICE **UNIT PRICE UNIT PRICE** (QUANTITY X UNIT PRICE) ITEM APX QTY UNIT **BRIEF DESCRIPTION OF ITEM** PRICE) PRICE) NO. (IN FIGURES) DO NOT ROUND (IN FIGURES) (IN FIGURES) DO NOT ROUND DO NOT ROUND **ONLY TWO DECIMALS ONLY TWO DECIMALS ONLY TWO DECIMALS BASE BID** \$1,219.40 \$1,457.05 Removal and Disposal of Existing 9. 35 SY \$49.50 \$1,732.50 \$34.84 \$41.63 Concrete Pads Contractor's Price: Contractor's Price: \$1,457 \$1,219.41 \$1,441.32 10. LS Removal and Disposal of Existing Inlet \$1,320.00 \$1,320.00 \$2,292.50 \$2,292.50 \$1,441.32 Contractor's Price: \$1,441 \$871.00 \$2,104.25 Removal and Disposal of Existing 25 EΑ \$82.50 \$2,062.50 \$34.84 \$84.17 11. Bollards Contractor's Price: \$871.01 Contractor's Price: \$2,104 \$5,947.99 Removal and Disposal of Existing 12. 1 LS \$2,750.00 \$2,750.00 \$6,759.03 \$6.759.03 \$5,947.99 Underground Septic Tank System Contractor's Price: \$5,948 \$2,973.99 Removal and Disposal of Existing LS \$2.973.99 13. \$1,650.00 \$1,650.00 \$2,946.31 \$2,946.31 Grease Trap System Contractor's Price: \$2,974 \$2,403.99 \$3,925.65 Removal and Disposal of Existing 14. 3 EΑ \$275.00 \$825.00 \$801.33 \$1,308.55 Contractor's Price: Parking Light Pole and Foundation Contractor's Price: \$3.926 \$2,403.98 \$1,070.63 Removal and Disposal of Existing Light EΑ \$1,320.00 \$1,070.63 15. \$1,320.00 \$2,090.42 \$2,090.42 Pole Concrete Base Contractor's Price: \$1,071





BID NO: 2021-0252 BID TITLE: Metro 31 Flood Zone Mitigation BID DATE: December 9, 2020 **DEPARTMENT: CAPITAL IMPROVEMENT** MFH Environmental Corp. Perikin Enterprises, LLC Spartan Construction of Texas, Inc El Paso, TX El Paso, TX Albuquerque, NM **BIDDER 11 OF 15 BIDDER 10 OF 15 BIDDER 12 OF 15 TOTAL AMOUNT TOTAL AMOUNT TOTAL AMOUNT** (QUANTITY X UNIT (QUANTITY X UNIT ITEM **UNIT PRICE UNIT PRICE UNIT PRICE** (QUANTITY X UNIT PRICE) APX QTY UNIT **BRIEF DESCRIPTION OF ITEM** PRICE) PRICE) NO. (IN FIGURES) DO NOT ROUND (IN FIGURES) (IN FIGURES) DO NOT ROUND DO NOT ROUND **ONLY TWO DECIMALS ONLY TWO DECIMALS ONLY TWO DECIMALS** BASE BID \$5,922.85 \$5,947.95 Removal and Disposal of Existing EPE 16. 5 EΑ \$935.00 \$4,675.00 \$1,184.57 \$1,189.59 Utility Pole & Overhead Electrical Contractor's Price: Contractor's Price: \$5.948 \$5,922.86 \$1,189.59 Removal and Disposal of Existing \$2,420.00 17. EΑ \$2,420.00 \$2.946.31 \$2.946.31 \$1.189.59 Abandoned AT&T Service Manhole Contractor's Price: \$1,190 \$12,437.10 \$9,863.10 Capping, Removal, and Disposal of LF \$5,148.00 \$21.26 18. 585 \$8.80 \$16.86 Contractor's Price: Existing 8" Sanitary Sewer Main Contractor's Price: \$9,867 \$12.436.63 \$8,801.64 \$5,978.16 Capping, Removal, and Disposal of LF 19. 414 \$8.80 \$3.643.20 \$21.26 \$14.44 Contractor's Price: Existing 8" Domestic Water Main Contractor Price: \$5,980 \$8801.31 \$4,264.56 \$954.36 Removal and Disposal of Existing 24" 20. 36 LF \$27.50 \$990.00 \$118.46 \$26.51 Contractor's Price: HDPE Storm Sewer Pipe Contractor's Price: \$954 \$4.264.46 \$117,944.10 \$65,815.72 CY 21. 14.561 Earthworks (Cut to Fill) \$13.20 \$192,205,20 \$8.10 \$4.52 Contractor's Price: Contractor's Price: \$65,900 \$117,925.76 \$2.392.803.32 \$1.236.678.38 22. 91.538 CY Earthworks (Imported Select Fill) \$13.20 \$1,208,301,60 \$26.14 \$13.51 Contractor's Price: Contractor's Price: \$2,392,514.45 \$1,237,254





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252

					nvironmental Corp. El Paso, TX DDER 10 OF 15	Alb	Enterprises, LLC uquerque, NM DER 11 OF 15	·	nstruction of Texas, Inc El Paso, TX DER 12 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	
	<u> </u>			•	BASE BID					
23.	735	LF	Furnish, Install and Implement Trench Safety System	\$55.00	\$40,425.00	\$13.24	\$9,731.40 Contractor's Price: \$9,730.91	\$2.37	\$1,741.95 Contractor's Price: \$1,749	
							\$14,749.65		\$10,738.30	
24.	365	LF	Furnish and Install 12" HDPE Pipe	\$74.80	\$27,302.00	\$40.41	Contractor's Price: \$14,751.41	\$29.42	Contractor's Price: \$10,739	
								\$36,093.50		\$15,284.70
25.	370	LF	Furnish and Install 18" HDPE Pipe	\$77.00	\$28,490.00	\$97.55	Contractor's Price: \$36,094.61	\$41.31	Contractor's Price: \$15,287	
26.	1	EA	Furnish and Install Reinforced Concrete Outfall Structure, Complete in Place	\$3,850.00	\$3,850.00	\$18,047.31	\$18,047.31	\$4,541.72	\$4,541.72 Contractor's Price: \$4,542	
			Furnish and Install 6" to 8" Loose Rock				\$96,737.80		\$44,298.25	
27.	23,945	SF	Rip Rap with Geofabric, Complete in Place	\$2.20	\$52,679.00	\$4.04	Contractor's Price: \$96,647.36	\$1.85	Contractor's Price: \$44,444	
			Furnish and Install 12" Loose Rock Rip				\$673.68		\$892.20	
28.	6	CY	Rap, Complete in Place	\$247.50	\$1,485.00	\$112.28	Contractor's Price: \$673.67	\$148.70	Contractor's Price: \$892.00	
			Furnish and Install 4" Reinforced				\$7,560.00		\$2,912.00	
29.	350	SF	Concrete Weir, Complete in Place	\$6.60	\$2,310.00	\$21.60	Contractor's Price: \$7,560.36	\$8.32	Contractor's Price: \$2,915	
			Furnish and Install 48" Pre-Cast				\$39,396.77		\$25,595.29	
30.	7	EA	Concrete Manholes	\$2,750.00	\$19,250.00	\$5,628.11	Contractor's Price: \$39,396.78	\$3,656.47	Contractor's Price: \$ 25,595	





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252 BID DATE: December 9 . 2020 **DEPARTMENT: CAPITAL IMPROVEMENT** MFH Environmental Corp. Perikin Enterprises, LLC Spartan Construction of Texas, Inc El Paso, TX Albuquerque, NM El Paso, TX BIDDER 10 OF15 **BIDDER 11 OF 15 BIDDER 12 OF 15 TOTAL AMOUNT TOTAL AMOUNT TOTAL AMOUNT** (QUANTITY X UNIT (QUANTITY X UNIT ITEM UNIT PRICE (QUANTITY X UNIT PRICE) **UNIT PRICE** UNIT PRICE APX QTY UNIT **BRIEF DESCRIPTION OF ITEM** PRICE) PRICE) (IN FIGURES) NO. (IN FIGURES) DO NOT ROUND (IN FIGURES) DO NOT ROUND DO NOT ROUND **ONLY TWO DECIMALS ONLY TWO DECIMALS ONLY TWO DECIMALS BASE BID** \$15,805.44 \$13,189.68 Furnish and Install 6' Chain-link Fence LF 31. 504 \$35.20 \$17,740.80 \$31.36 \$26.17 Contractor's and Accessories Contractor's Price: \$13,190 Price:\$15,803.59 \$6,968.08 \$1,189.60 Furnish and Install 9' Chain-link Gates 32. 2 EΑ \$1,650.00 \$3,300.00 \$594.80 \$3,484.04 Contractor's Price: and Accessories, Complete in Place Contractor's Price: \$1,190 \$6,968.07 \$588.80 Furnish and Install No Trespassing 33. 2 EΑ \$550.00 \$1,100.00 \$1,017.34 \$2,034.68 \$294.40 Warning Sign, Complete in Place Contractor's Price: \$595 34 Left Blank Intentionally \$3,425,333,78 \$1.838.350.63 SUM TOTAL BASE BID (ITEMS 1 THRU 34) \$1,932,606.50 Contractor's Price: \$3,424,830.86 Contractor's Price: \$1,839,228 **MOBILIZATION** \$48,315.16 \$51,372.46 \$1.00 (NOT TO EXCEED 5%) \$3,476,706.24 \$1,838,351.63 SUM TOTAL (BASE BID I AND MOBILIZATION) \$1,980,921.66 Contractor's Price: \$3,476,203.32 Contractor's Price: \$1,839,229 **AMENDMENTS ACKNOWLEDGED** Yes Yes Yes

BID BOND SUBMITTED

Yes

Yes

Yes





BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252

BID D	ATE: Dece	mber 9,	2020					DEPARTMENT	: CAPITAL IMPROVEMENT
				Synergy P	roject Contractors, Inc		stries Inc dba Hawk onstruction	ZTEX (Construction , Inc
				El Paso, TX		El Paso, TX			El Paso, TX
				ВІС	DER 13 OF 15	BID	DER 14 OF 15	BID	DER 15 OF 15
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
	1				BASE BID	_			
1.	1	LS	Storm Water Pollution Prevention Measures, Complete in Place	\$21,450.00	\$21,450.00	\$14,352.33	\$14,352.33	\$11,902.00	\$11,902.00
2.	1	LS	Traffic Control, Complete in Place	\$20,350.00	\$20,350.00	\$5,400.90	\$5,400.90	\$11,250.00	\$11,250.00
3.	55,718	SY	Removal and Disposal of Existing Hot Mix Asphaltic Concrete (HMAC) Pavement & 6" Over-Ex of Base Course Layer	\$4.00	\$222,872.00	\$1.51	\$84,134.18	\$1.80	\$100,292.40
4.	13,303	SY	Clear & Grub (Non Paved Areas) (6" Depth)	\$3.00	\$39,909.00	\$0.22	\$2,926.66	\$1.90	\$25,275.70
5.	1	LS	Removal and Disposal of Existing Trees, Shrubs, and Native Vegetation	\$8,363.00	\$8,363.00	\$3,240.54	\$3,240.54	\$11,250.00	\$11,250.00
6.	2,084	LF	Removal and Disposal of Existing Chain-link Fence & Gates	\$3.00	\$6,252.00	\$4.15	\$8,648.60	\$4.80	\$10,003.20
7.	3,184	LF	Removal and Disposal of Existing Curb & Gutter	\$4.00	\$12,736.00	\$1.89	\$6,017.76	\$2.80	\$8,915.20
8.	5,424	SF	Removal and Disposal of Abandoned Sun Metro Bus Depot Facility	\$2.00	\$10,848.00	\$0.20	\$1,084.80	\$3.40	\$18,441.60





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

טוט ט	DEFARIMENT. CAFITAL IMPROVEMENT										
				Synergy Project Contractors, Inc Tao Industries Inc dba Hawk Construction		ZTEX Construction , Inc					
				El Paso, TX		E	El Paso, TX		El Paso, TX		
				BID	DER 13 OF 15	BID	DER 14 OF 15	BID	DER 15 OF 15		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
					BASE BID						
9.	35	SY	Removal and Disposal of Existing Concrete Pads	\$23.00	\$805.00	\$29.16	\$1,020.60	\$27.70	\$969.50		
10.	1	LS	Removal and Disposal of Existing Inlet	\$825.00	\$825.00	\$1,249.99	\$1,249.99	\$750.00	\$750.00		
11.	25	EA	Removal and Disposal of Existing Bollards	\$77.00	\$1,925.00	\$158.28	\$3,957.00	\$69.00	\$1,725.00		
12.	1	LS	Removal and Disposal of Existing Underground Septic Tank System	\$5,830.00	\$5,830.00	\$4,297.82	\$4,297.82	\$2,302.00	\$2,302.00		
13.	1	LS	Removal and Disposal of Existing Grease Trap System	\$2,640.00	\$2,640.00	\$2,229.94	\$2,229.94	\$2,302.00	\$2,302.00		
14.	3	EA	Removal and Disposal of Existing Parking Light Pole and Foundation	\$203.00	\$609.00	\$1,232.03	\$3,696.09	\$1,819.00	\$5,457.00		
15.	1	EA	Removal and Disposal of Existing Light Pole Concrete Base	\$607.00	\$607.00	\$1,811.33	\$1,811.33	\$959.00	\$959.00		





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252
BID DATE: December 9, 2020

DEPARTMENT: CAPITAL IMPROVEMENT

BID D	ATE: Dece	mber 9,	2020					DEPARTMENT	CAPITAL IMPROVEMENT
				Synergy Pi	roject Contractors, Inc		stries Inc dba Hawk onstruction	ZTEX (Construction , Inc
				El Paso, TX		E	El Paso, TX	ı	El Paso, TX
				В	DDER 1 OF 4	BII	DDER 2 OF 4	ВІ	DDER 3 OF 4
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
					BASE BID				
16.	5	EA	Removal and Disposal of Existing EPE Utility Pole & Overhead Electrical	\$924.00	\$4,620.00	\$2,238.39	\$11,191.95	\$1,819.00	\$9,095.00
17.	1	EA	Removal and Disposal of Existing Abandoned AT&T Service Manhole	\$1,145.00	\$1,145.00	\$3,263.89	\$3,263.89	\$938.00	\$938.00
18.	585	LF	Capping, Removal, and Disposal of Existing 8" Sanitary Sewer Main	\$22.00	\$12,870.00	\$9.18	\$5,370.30	\$14.00	\$8,190.00
19.	414	LF	Capping, Removal, and Disposal of Existing 8" Domestic Water Main	\$14.00	\$5,796.00	\$9.70	\$4,015.80	\$14.00	\$5,796.00
20.	36	LF	Removal and Disposal of Existing 24" HDPE Storm Sewer Pipe	\$10.00	\$360.00	\$27.30	\$982.80	\$13.00	\$468.00
21.	14,561	CY	Earthworks (Cut to Fill)	\$7.65	\$111,391.65	\$5.56	\$80,959.16	\$3.20	\$46,595.20
	1 1,50 1		Editionio (Oditio i iii)	ψ1.00	Contractor's Price: \$111,339.23	ψ3.00	\$55,555.10	ψ3.20	\$ 10,000.20
22.	91,538	CY	Earthworks (Imported Select Fill)	\$16.18	\$1,481,084.84 Contractor's Price: \$1,480,682.07	\$17.19	\$1,573,538.22	\$7.84	\$717,657.92





BID TITLE: Metro 31 Flood Zone Mitigation

BID NO: 2021-0252

				Synergy Pr	roject Contractors, Inc		stries Inc dba Hawk onstruction	ZTEX (Construction , Inc	
				El Paso, TX		El Paso, TX		ı	El Paso, TX	
				BIC	DER 13 OF 15	BID	DER 14 OF 15	BID	DER 15 OF 15	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	
					BASE BID					
23.	735	LF	Furnish, Install and Implement Trench Safety System	\$6.00	\$4,410.00	\$2.16	\$1,587.60	\$1.25	\$918.75	
24.	365	LF	Furnish and Install 12" HDPE Pipe	\$80.00	\$29,200.00	\$58.83	\$21,472.95	\$34.00	\$12,410.00	
25.	370	LF	Furnish and Install 18" HDPE Pipe	\$86.00	\$31,820.00	\$71.21	\$26,347.70	\$52.00	\$19,240.00	
26.	1	EA	Furnish and Install Reinforced Concrete Outfall Structure, Complete in Place	\$23,650.00	\$23,650.00	\$8,835.56	\$8,835.56	\$6,062.00	\$6,062.00	
27.	23,945	SF	Furnish and Install 6" to 8" Loose Rock Rip Rap with Geofabric, Complete in Place	\$8.00	\$191,560.00	\$4.03	\$96,498.35	\$1.74	\$41,664.30	
28.	6	CY	Furnish and Install 12" Loose Rock Rip Rap, Complete in Place	\$116.00	\$696.00	\$129.62	\$777.72	\$100.00	\$600.00	
29.	350	SF	Furnish and Install 4" Reinforced Concrete Weir, Complete in Place	\$6.00	\$2,100.00	\$16.69	\$5,841.50	\$9.80	\$3,430.00	
30.	7	EA	Furnish and Install 48" Pre-Cast Concrete Manholes	\$5,445.00	\$38,115.00	\$4,510.78	\$31,575.46	\$2,937.00	\$20,559.00	



CITY OF EL PASO

BID TABULATION FORM



BID TITLE: Metro 31 Flood Zone Mitigation BID NO: 2021-0252 **DEPARTMENT: CAPITAL IMPROVEMENT** BID DATE: December 9 . 2020 Tao Industries Inc dba Hawk Synergy Project Contractors, Inc. **ZTEX Construction, Inc** Construction El Paso, TX El Paso, TX El Paso, TX **BIDDER 13 OF 15 BIDDER 14 OF 15 BIDDER 15 OF 15 TOTAL AMOUNT** TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT UNIT PRICE (QUANTITY X UNIT PRICE) **UNIT PRICE UNIT PRICE** ITEM APX QTY UNIT **BRIEF DESCRIPTION OF ITEM** PRICE) PRICE) NO. (IN FIGURES) DO NOT ROUND (IN FIGURES) (IN FIGURES) DO NOT ROUND DO NOT ROUND ONLY TWO DECIMALS **ONLY TWO DECIMALS ONLY TWO DECIMALS** BASE BID Furnish and Install 6' Chain-link Fence 31. 504 LF \$22.00 \$11,088.00 \$22.68 \$11,430.72 \$26.25 \$13,230.00 and Accessories Furnish and Install 9' Chain-link Gates 32. 2 EΑ \$2,420.00 \$4,840.00 \$488.08 \$976.16 \$563.00 \$1,126.00 and Accessories, Complete in Place Furnish and Install No Trespassing 33. 2 EΑ \$165.00 \$330.00 \$216.03 \$432.06 \$113.00 \$226.00 Warning Sign, Complete in Place 34 Left Blank Intentionally \$2,311,097.49 \$2,029,166.44 SUM TOTAL BASE BID (ITEMS 1 THRU 34) \$1,120,000.77 Contractor's Price: \$2.310.642.3 Contractor's Price: \$2.029.162.44 **MOBILIZATION** \$57,766.06 \$20,837.56 \$56,885.00 (NOT TO EXCEED 5%) \$2,368,863.55 \$2,050,004.00 SUM TOTAL (BASE BID I AND MOBILIZATION) \$1,176,885.77 Contractor's Price: \$2,368,408.36 Contractor's Price: \$2,050,000 AMENDMENTS ACKNOWLEDGED Yes Yes Yes

BID BOND SUBMITTED

Yes

Yes

Yes

2021-0252 Metro 31 Flood Zone Mitigation							
	View List	one Miligation					
1	814 Solutions Seedin	Ctuibling Com					
2		Stribling, Sam					
	Abescape	Gallegos, Mari					
3	Allen Concrete Inc.	Magdaleno, Jesus					
4	allied paving	ortiz, abel					
5	AMTEK	Rugh, John					
6	B.F. Builders Group,	Fraire, Julio					
7	Best Ironworks	Guardado, Carlos					
8	Black Stallion Group	Reyes, Carlos					
9	Border Demolition	Anguiano, Carlos					
10	Bowen Industrial Con	Hessney, Steve					
11	Burke Insurance Grou	Mims, Valerie					
12	CK Construction	Fuentes, Ivan					
13	CK Construction, Inc	Avila, Rick					
14	Clowe And Cowan	Huit, Jacob					
15	Clowe And Cowan of E	Rodriguez, Gerardo					
16	comaduran constructi	comaduran, richard					
17	Complete Remodeling	abshagen, samantha					
18	ConstructConnect	Kyle, Bellomy					
19	construction Bid Sou	Gibson, Patty					
20	Construction Journal	Exton, Pamela					
21	Construction Reporte	Wood, Jane					
22	Contractors Register	Deg, Maria					
23	CSA Constructors	Oney, Hilary					
24	Dantex General Contr	Mondello, Shannon					
25	DEL MAR CONTRACTING,	HARRISON, MIKE					
26	Deltek	Management, Source					
27	Direx Construction,	Hudson, Brad					
28	Dodge Data	Peggy, Koehn					
29	Dodge Data And Analy	Loganathan, Jayalakshmi					
30	Double H Contracting	HINOJOS, HECTOR					
31	DRS Rock Materials,	Soto, Daniel					
32	Fulcrum Contracting	Jaramillo, Jorge					
33	GCC Sun City Materia	Rivas, Fernando					
34	Gomez Concrete	Gomez, Jesu					
35	HAWK	Jorge, Ojeda					
36	Horizone Constructio	Maldonado, Mariana					
37	i- Sourcing Technolo	Balai, Rakesh					
38	INTEGRATED EARTHWORK	Garcia, Carlos					
39	International Eagle	Molina, Marcos					
40	J. CARRIZAL GENERAL	Cervantes, Marlena					
41	J. D. Abrams, L.P.	Saenz, Amadeo					
	J.A.R Concrete, Inc	•					
42	J.A.K Concrete, Inc	Valenzuela, Jesus					

	2021-0252 Metro 31 Flood Zone Mitigation								
	View List								
43	JMR Demolition	Flores, Hugo							
44	JMR Demolition, Ltd.	Robles, Jesse III							
45	Jobe Materials, L.P.	Lowrance, Gloria							
46	Jordan Foster Constr	Figueroa, Joseph							
47	Lesna Construction,	Hernandez, Carlos							
48	LHC	Hamilton, Lloyd							
49	Lizandro Naranjo	Naranjo, Lizandro							
50	Lomeli and sons Land	Gonzalez, Ruben							
51	Martinez Bros. Contr	Martinez, Heriberto							
52	Mirador	Lopez, Jose							
53	Mr.	Gallegos, Yahve							
54	MTI Ready Mix	Drapes, Michael							
55	Neenah Foundry	Aulick, John							
56	NRC Construction And	Delgado, Rick							
57	Oldcastle Infrastruc	Fife, Lane							
58	Perikin Enterprises,	Lopez, Rafael							
59	Prestige Constructio	Hermosillo, Edgar							
60	Prime Vendor Inc.	Jones, Kim							
61	RBM Engineeering, In	Morris, Bryan							
62	Rummel Construction,	Gribler, Amber							
63	Satarain Constructio	Satarain, Joe							
64	Sierra Vista Wholesa	White, Hugo							
65	SigmCon	Torres, Elizabeth							
66	Smartprocure	Bjornsson, Ron							
67	SMG	Monsisvais, Mauro							
68	SPARTAN CONSTRUCTION	ALLEN, STEVE							
69	Synergy Project Cons	Acosta, Arami							
70	Thalle Construction	Bowden, Donita							
71	The PlanIt Room	Hernandez, Cecilia							
72	Tri-State Electric,	Motta, Alejandro							
73	Vertex Contractors,	Ruiz, Erika							
74	Vitual Builders Exch	Olguin, Jeannette							
75	Wayne Enterprises	Austin, Fork							
76	Win Supply	Garcia, Mark							
77	ZTEX Construction I	Royo, Joaquin							
78		Balolong, Tricia							
79		Banquil, Lovely							
80		Hernandez, Alberto							
81		James, Hardison							
82		Martinez, Jessica							
83		Watson, Frank							

EXECUTIVE SUMMARY 2021-0252 Metro 31 Flood Zone Mitigation ZTEX CONSTRUCTION, INC.

NATURE OF ITEM: (NEW CONTRACT, REPLACEMENT CONTRACT, EXTENSION, COOP PURCHASE, ETC.)	New Contract
ADVERTISEMENT DATES:	October 27, 2020 and November 3, 2020
POSTCARDS MAILED ON:	N/A
POSTED ON CITY WEBSITE:	October 27, 2020
EMAIL (PURMAIL) NOTIFICATION:	October 29, 2020
BIDS OPENED:	December 9, 2020
VIEWERS:	99
BIDS RECEIVED:	15
LOCAL BIDDERS CONTACTED:	N/A
LOCAL BIDDERS RESPONDED:	14
LOCATION OF VENDOR:	El Paso, TX
INITIAL PERFORMANCE PERIOD OR EXTENSION PERIOD:	300 Consecutive Calendar Days
PREVIOUS AND EXISTING CONTRACTS (SAME VENDOR):	N/A
EVALUATION CRITERIA:	Low Bid, Unit Price Contract
PRINCIPAL STRENGTHS:	Lowest Responsive Responsible Bidder
VENDOR PERFORMANCE HISTORY:	N/A
PRICE REASONABLENESS (COMPARED TO PREVIOUS OR COOP CONTRACT):	Construction estimate: \$2,005,606.58 Low Bid Amount: \$1,176,885.77 Difference: \$828,720.81 Percentage: 41.32% below estimate
OTHER INFORMATION:	

To: Bruce D. Collins, CPPO

Director of Purchasing & Strategic Sourcing

Thru: Victor Caraveo

Purchasing Agent

From: Crystal Paz

Procurement Analyst

Date: January 19, 2021

Subject: 2021-0252 Metro 31 Flood Zone Mitigation

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **January 19, 2021**.

STRATEGIC GOAL 7 - Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection 7.2 - Improve competitiveness through infrastructure improvements impacting the quality of life.

Award Summary:

Discussion and action on the award of solicitation 2021-0252 Metro 31 Flood Zone Mitigation to ZTEX CONSTRUCTION, INC. for an estimated total award of \$1,176,885.77. This award will support the improvements to the commercial development known as Northgate, located at the intersection of Diana and Dyer Street.

Department: Capital Improvement

Award to: ZTEX CONSTRUCTION, INC.

El Paso, TX

Item(s):

Initial Term: 300 Consecutive Calenday Days

Base Bid I: \$1,176,885.77 Total Estimated Award: \$1,176,885.77

Account No.: 580010 - 480 - 4930 - 48000 - PEDFY18012

522360 - 480 - 2323 - 48040 - PEDFY18012 580170 - 480 - 4741 - 48040 - PEDFY18012 580160 - 480 - 4741 - 48040 - PEDFY18012 580270 - 480 - 4741 - 48040 - PEDFY18012

Funding Source: 2017 Certificates of Obligation and Economic Development Incentives

District(s): 4

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to ZTEX CONSTRUCTION, INC., lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

Contact person:

Purchasing & Strategic Sourcing, Bruce D. Collins, (915) 212-1181 Capital Improvement, Sam Rodriguez, (915) 212-0065
PPS FORM 010, Rev 0., 2/15/2016

Disregard Previous Versions